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2a+2b=
6Xx+9y =
3M-3=
4+12m=
12x+20 =
mx —my =
XY+ XZ =
3a-3a’ =
5xy—10xz =

L3 —2x% =

. 10ab +15ac =

. 9a* —12a° =

. 4xy? —12xy =
.a’b®—a’h’ =
Xy xtyd =
P+ =

. Oxy? —27x%y =
. 3ab-6a’b® =

X 4x?+x=
m? +2m? +3m =

. 2ab—4ac+10ad =
. 15xy—-10x+5=

.a‘—-a=

a®—ab=

.a*-9a=

Xy —xy® =

.a’h-b®=
. 27x3 —3xy® =
. 12b-27a’b =

x4t —x?% =

. 20x* -5=

X (x+2)+x+2=
Cx+y+a-(x+y)=
.3-(a+2)-a-2=

. 5M+5n+m? +mn=

.ab—ac+3b-3c=
. ax+ay+bx+by=

XX+ x+1l=

Pactag/matbe NoanMHOMA Ha

YNMHUO

L N U AW DN R

[
= O

W W W W W W N N N N N NN NMNMNNDN P P P PP PR
v B W N P O O 00 N O U B W NP O O OW N O U B W N

w w
N O

w
[00]

e

2a+2b=
6X+9y =
3m-3=
4+12m=
12x+20 =
mx —my =
XY+ XZ=
3a-3a® =
5xy—-10xz =

L3P —2x% =

. 10ab +15ac =

. 9a* -12a° =

. 4Axy? —12xy =

. a’p?-a’h’ =
CxXPyExty =
CrPr4ras =

. Oxy? —27x%y =
. 3ab—6a’bh® =
X34 xP 4 x=

. m?+2m? +3m=
. 2ab—4ac+10ad =
. 15xy—-10x+5=
.a’-a=
.al-ab=
.a*-9a=

Xy —xy? =
.a’b-b®=
27X =3xy* =

. 12b-27a’b =

4 2

Cxt=x%=
. 20x* 5=

X (X+2)+x+2=
Cx+y+a-(x+y)=
.3-(a+2)-a-2=

. 5m+5n+m? +mn=

.ab—ac+3b-3c=
. ax+ay+bx+by=

X3 xP e x+l=
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